
The implicit model which I want to achieve is the top model and the 
base geometies I tried to homogenize are given below



3D - Solid H – Periodic in 3 Direction – Quad
Mesh

Only this homogenization is 
successful



3D - Solid H – Aperiodic in Y Direction – Quad
Mesh

I assigned these properties to an implciit model 
and compared it with full-scale model but 
there were a considerable difference in 
response. Thus I decided to use symmetrical
mesh to successfully homogenize with finite
size 



3D - Solid H – Periodic in 3 Direction –
Periodic Mesh

Results indicates an isotropic
material which is not correct



3D - Solid H – Aperiodic in Y Direction –
Periodic Mesh



2D – Plate H – Periodic in 3 Direction – Quad
Mesh



• Even there is no problem with the license in previous models, the
error is showing off and the homogenization does not work for next
cases.



2D – Plate H – Aperiodic in Y Direction – Quad
Mesh



2D – Solid H – Periodic in 3 Direction – Quad
Mesh



2D – Solid H – Aperiodic in Y Direction – Quad
Mesh



2D – Plate H – Aperiodic in Y Direction –
Periodic Mesh



2D – Plate H – Periodic in 3 Direction –
Periodic Mesh 



2D – Solid H – Periodic in 3 Direction –
Periodic Mesh 



2D – Solid H – APeriodic in Y Direction –
Periodic Mesh 


